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Drara Sufficlency
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Data Safficiency
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Note: This question 15 followed by data i the form of two statements labeled as |
and 1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
(4) as per the following guidelines:

(a) Maik choice (1) if the statement [ alone 15 sufficient to answer the question.

(b)  Maik choice (2) if the statement IT alone is sufficient to answer the question.

{c) Mark choice (3) if both the statements [ and II are sufficient to answer the
question but neither statement alone is sufficient.

{(d) Mark choice (4) if both the statements I and I together are not sufficient to

answer the question and additonal data 15 required.
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Data SulTiciency
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Note: This question is followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as pet the following smdelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b}  Mark choice (2) if the statement 1T alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements 1 and 11 are sufficient 1o answer the
question but neither statement alone 15 sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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Data Sufficiency
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Note: This question 15 followed by data in the form of rwo statements labeled as [
and IT. You must decide whether the data given in the statementis are suflicient
to answer the questions, Using the data make an appropnate choice from (1) to
(4) as per the following gwdelines:

(a)  Mark choice (1) 1if the statement I alone 1s sufficient to answer the question.

(b}  Mark choice (2) if the statement [T alone 1s sufficient to answer the question.
ic) Mark chowce (3) if both the statements I and IT are sufficient to answer the

question but neither statement alone 15 sufficient.

id}y Mark choice (4) if both the statements I and 11 together are not sufficient to

answer the question and additional data 15 required.
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Data SulTiciency
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Note: This question is followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as pet the following smdelines:

(a) Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b}  Mark choice (2) if the statement 1T alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements 1 and 11 are sufficient 1o answer the
question but neither statement alone 15 sufficient.

(d) Mark choice (4) if both the statements I and II together are not sufficient to
answer the question and additional data 1s required.
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Data Sufficiency
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Note: This question 15 followed by data m the form of two statements labeled as 1
and 11. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following gudelines:

(a) Mark choice (1) if the statement 1 alone 1s sufficient to answer the guestion.

(b)  Mak chowce (2)1f the statement IT alone 1s sufficient 1o answer the question.

(e} Mark choice (3) if both the statements I and II are sufficient to answer the
question but neither statement alone 1s sufficient.

(d) Mark choice (4) 1f both the statements I and IT together are not sufficient to
answer the question and additional data is required.
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Drata Sulficiency
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Note:

(a)
(b
()

(d}

This question 15 followed by data i the form of wo statements labeled as [
and 1. Y ou must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following puidelines:
Mark choice (1) if the statement 1 alone 15 sufficient to answer the question.
Mark choice (2) if the statement 11 alone is sufficient to answer the question.
Mark choice (3) if both the statements [ and 11 are safficient to answer the
question but neither statement alone 1s sufficient.
Mark choice (4) 1f both the statements 1 and IT together are not sufficient to

answer the question and additional data 15 required.
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Data Sufficiency
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wote: This question 15 followed by data in the form of two statements labeled as |
and II. You must decide whether the data given i the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(47 as per the following guidelines:
(a) Mark choice (1) if the statement | alone is sufficient to answer the question.
{b)  Mark choice (2} if the statement Il alone 1s sufficient to answer the question.
{c)  Mark choice (3) if both the statements T and IT are suflicient to answer the
question but neither statement alone 15 sufficient.
(d)y Mark chotce (4) if both the statements I and IT together are not sufficient to
answer the question and additional data 1s required.
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Data Sulficiency

e T e
Note: This question is followed by doma in the fnm of two siatements Iabeled as |
and IT. You must decide whether the dara given in the statements are sutficient
to answer the questions. Using the data make an appropnate choice from (1) 1o
(4) as per the following guidelines:
(a)  Mark choice (1) 1f the statement | alone 15 sufficient 1o answer the question
(b)  Mark choice (2) if the statement IT alone is sufficient 1o answer the question.
(¢} Mark choice {3) if both the statements [ and 11 are sufficient to answer the
dquestion but neither statement alone 15 sufficient.

(d)  Aaik chowee (4)if boath the starziments T aid I tosether are oot sufficient 1o
answer the question and additional data 15 requirad.
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Data Sufficiency
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Note:

(a)
()
(c)

id)

This question 15 followed by data in the form of two statements labeled as |
and II. Y ou must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) 1o
{4} as per the following gmdelines:
Maik choice (1) if the statement I alone is sufficient to answer the guestion.
Mark choice (2) if the starement T alone is sufficient 1o answer the question.
Maik chwoice (3) if both the statements T and IT are sufficiem re answer he
question it neither statement alone 15 sufficient,
Mark choice (4) if both the statements I and II together are not sufficient to

answer the question and additional data is required
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Data Sufficiency
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Note: This question 1s followed by data in the form of two statements labeled as 1
and I You mnst decide whether the data paven in the statements are sufficient
1o answer the questions, TUsmg the data make an appropnate choice from (1) 10
(4) as per the following gmidelines:
(a)  Mark choice (1) if the statement I alone is sufficient to answer the question.
ib)  Mark choice (2} 11 the statement IT alone 15 suflicient 1o answer the questhon
ic) Mark choice (3) if both the statements | and 11 are sufficient to answer the
question but neither statement alone 15 sufficient.
(d) Mark choice (4) if both the statements I and II together are not sufficient 1o
answer the question and additional data is required.
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Data Sufficieney
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Note; This question 15 followed by data in the form of two statements labeled as [
andd 11 ¥ o miust decade whether the data given in the statements are sufficient
o amswer fhe quesions. Usig the data make an appropoate chowe foms (1) 10
{47 a5 per the following guidelines:
(a)  Mark chowee (1) if the statement I alone ts sufficient ro answer the question.
iby  Mark choice (2) if the statement 1 alone 1s snfficient to answer the question,
(e} Mark choiee (3} if boeth the statements | and [1 are sufficient to mmswer the
question but neither statement alone is sufficient
(d)  Mark choce {4) if both the statements [ and I1 together are not sufficient to
answer the question and additional dara is required,
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If the perimeter of a rectangular hall is 80 feee, what is its area?
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II.  The length of the hall i greater than its width
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Question Number : 13 Question Id : 9126062873 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Drata Sufficiency

GErod DTG

Male:

(al
(h)
(e}

(d)

This question 15 followed by data m the forin of rwo statements labeled as [
and IL. ¥ou muost decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropriate choice from (1) to
(4) as per the following gmdelines:
Mark chorce (1) of the statement I alone 15 sufficient (o mswer the quesnon,
Mark choice (2) if the statement 1 alone 15 sufficient to answer the question.
Mark choice (3) if both the statements I and II are sufficient to answer the
quesizon it neither starement alone 15 sufficient.
Mark choice (4) if both the starements I and 1T together are not sufficient to

answer the question and additional data 15 requured.

AP oiad: (58 (8T a8 |Ey. ord (Bod LT e Midpen ey Do

ardioren  OFodor  @ofadon. g O]
S OTFNOD, FDNA DSSaren (D)5 SR St o
Sralen eSS clT B el it AT0oTE). S DTG0

B0 AFQAdE ArEren gadlrhod (1) od (1) SO8 D0
ECN0A BT RNl JohE Tohod,

(@) (508 50 ST A0 G )08 (Do 175 ST Eion S
a0 @waran (1) ibBocod.

(b} (3243 53 AAPLPS0 9 1005 DS S0 1T AP oo
bl BaTen () T ihQodod,

(e} 134350 DArGrdo 2T 05 Hadiren L I 63 Horradhon
oS 2 2568 Sroe dodo TEFE D 2aan (3) ™
Godod,

(d} 34350 SArera0 2 050 5 Ihadaren I T 5O 5 HOPa0
58 eachiday OE0H0 @dddDan® ob 2iaren (4) T ib8odod.

Whar 15 the value of the ioreger x = 07

srerogo X 2 L) Dend Do

L 16" isodd
16" £

I 15" = add
15" an
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Data Sufficiency

Ggroe HUDS

Note: Tlus question 1s followed by data mn the forn of two stateinents labeled as I
and I1. Yon nmst decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
(4) as per the following guidelines:

{a) Mak choice (1) if the statement I alone is sufficient to answer the question.

(b)  Mark choice (2) if the statement Il alone is sufficient to answer the question.

(e} Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) if both the statements I and IT together are not sufficient to
answer the question and additional data 15 requured.

Dreeded: |06 DHd)5W 2.8 159, o 18045 L I @d hihen e Dok
[Redtierrey OTodomr @ajnFon. @A OAToF)
SHTIAOD. S I (HSATED |HF1 8 DITCTD) BT 10050%
DOMEreN eSEalr B @d D AT0oTE. & AT

800 ATGOG)E AFEFe) SHTTNOD (1) HOG (3) HO% HO
EFOAD TRV a)OmE Do,

(a) (94150 ST AT 0CHE (DSIS0 [ AFead HTTiahons
0 earan (1) T thooood,

(b) (35950 AATEFS0 DT J0CDE) SIS0 1 STedad HT 0N
2 maraw (2) e hoodod.

(c) 1399180 AAPG0 WD JOHE 1Hamren L 1T $08) HOrSom
oS D w8 SrE HouUN0 TEFS D maa @) ™
MEoiod.

(d) (2950 AATETG0 20 J0M5E Bacaren 1L I e ST HOma0
8 eaids) GF0F0 @SNG0S 2 BT (4) M Hiodod.

Isx = 7
X = ¥ esgndoorr!

L 3x | »— 0

I Jx—y|=25
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Diata Sufficiency

STrod DORO

Note: This question 15 followed by dara i the form of two statements labeled as I
and II. You must decide whether the data given in the starements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) fo
(4) as per the following guidelines:

(@}  DMMark choice (1) if the statement I alone 15 sufficient o answer the question.

{by  DMark choice (2) if the statement 11 alone 1s sufficient to answer the question.

(c)  Mark choice (3) if both the statements [ and 11 are sufficient to answer the
guestion but neither statement alone s sufficient.

{(d) Mark choice (4) if both the statements [ and IT together are not sufficient 1o

answer the question and addinonal data is required.

AP SS: (e |OE 0 28 198, T2 1500 L 11 &2 hdien e Do)
o Sereny  GOEFodonrT @WaiAFon, @) GEQE
Erad RO, W) )6 [Madcdiiren |94 50 darorara ) Sd o
Dorraren esgdEralr @0 el o AT0ord. & AT dLH

Bod ArQdyl AarmEren &SH0Irhod (1) dhod (4) 8% HO
BICIDA ZBaFE0D 00 Dobhod,

(a) 1294750 HAFFS0 B0 0% DASH0 T A7 Horedons
a0 2arzn (1) i hoosnod.

(b) (243 53 AAT TS0 S 100050 (235360 1T &SP (6850 syorpanond
o0 Baren (1) T h8owod,

(c} 1904350 RaiTrrado B3 JOCH S [HaSen I I $0%) Horianom
eohd O 2518 Sro Houso FEYE Do aoen (3) m
fOoddod,

(d) 23350 AAATTTA0 e H0CHE HSGaren L ISR SPi 00
oof enchde OO0 saRGRoNE ) 2a () Mmool

In the N, is AH = A6

fabaeest AN — AL wSndhooar!

o
A i
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Data Sufficiency

SEros LOGHS

Note: This quesiion is followed by data mn the form of two statements labeled as I

and I1. You mnst decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
{4} as per the following gudelines:
{a)  Mark choice (1) if the statement I alone is sufficient to answer the guestion.
(b}  Mark choice (2) if the statement II alone 1s sutficient to answer the question.
{c}  Mark choice {3) if both the statements I and II are sufficient o answer the
question but neither statement alone is sufficient.
{(d}  Mark choice (4) if both the statements I and IT together are not sufficient 1o

answer the question and additional data 1s required.

DTS (Hed 1P 28 159y, oD 1Bod L T &d MHiden e Bod

[Wadiiren GEodor  Feijaon.  @dd)a SF0FTW)
erIIrNoD, 9O (HSOEren [2) 5 AT @n o
DO @HE AT B @ i AT0oTE). & DTG5

1500 ArQ00,8 ArEren aadirtod (1) 0d (4) H05 &b
B0 23T 20D JO0E Tahod.

() 1809 50 AATFTS0 BT 0O 1DSG0 [ AT|ead Horiasons

0 2aren (1) e hlovod,

(b) 1539350 DATErS0 WD 3050 1DSDS0 I A7 Sah dorshona

b 225720 (2) T Mhlowiod.

(c) 19150 DTS00 2T 1005 DSOTEN L I 00 HOmE00m0

®othS o 258 Sro dono sEEE N agawm (3)
lodod.

(d) (59 50 ASTTTA0 WD 1005 (HadTren 1L 11 $60 S HT7 0

58 eadicda)y GFodo @aad:H0nd o Baran (@)  hodiod.

Fora b e Bl be mimber of positeve ezl divisors of (e posiiive mieges

At s 3, then what is the value of H7

i b £ B wf gdippgese  4ub coog) afiroos somoso oy S
Rpoood, B Qi RS e ]

i

IT.

a=3>5
a 15 A prime nnamher,
A28 B .-“-:mn:-lga.
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Data Sufficiency

Qoo DODO

Note: This question 15 followed by data in the form of two statements labeled as I
and I1. You must decide whether the data given in the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
{4) as per the following gmdehnes:

(a) Mark choice (1) if the statement I alone 15 sufficient to answer the question.
(b)  Mark choice (2) if the statement LI alone 1s sufficient to answer the question.

{c)  Mark choice (3) if both the statements T and T are sufficient to answer the

guestion but neither statement alone is sufficient.

(d) Mark choice (4) if both the statements [ and II together are not sufficient to
answer the question and additional data is required.

AP (6 [(HF) 070 2.8 1H9), D 1800 1, 1T & Mden fe Todd
o OFodor  @ajHlFon.  @ooae GF0TR)
SHTBINOD, BOE DSSTre (D150 SATTTR) FD )00
DOre) @HEalr Bo @ 0 AT00TE. & AT

1Bod ArQchd s Ar@Ee &aHdiriod (1) dod (@) H8% Ho
€30S B2 008 Do A,

(2) (8915 AATTFE0 BT 005 (HSDG0 1 AP Do R Son S
a0 2arzn (1) e hlodod.

(b) 1594350 DArerdo 20 10050 D80 I | Sah Horjason s
2 2arzn (2) ™ HOoBod.

(c) (298150 DArFdo [T )05 (Daderen 1L 1T 500 A0 iaanon
wochs O 2803 Sror Hodo FESFE D o (3) T
hiodod,

(d) (39950 DATFEH0 BT J0OE Pauren LI ok Srar HoTa0
T8 sy 8070 eaHG000E o Zaren (4) T hdodod.

What 15 the integer a?

WFTese a 07T

I

IO P |
r 24 2

II. a2 + 24 = 10a
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Data Sufficiency

Seros DTS

Note: Thas question iz followed by data in the form of two statements labeled as 1
and I1. Y ouw st decide whether the data given i the statements are suflicient
to answer the questions. Usme the data make an appropniate choice from (1) o
(4) as per the followmg guadehnes:

{a)  Mark choice (1) if the statement L alone 1s sutficient to answer the question.

()  Matk choice (2) if the starement T alone is sufficient to answer the question.

tc)  Mark choice (3) if both the statemnents 1 and 11 are sufficrent to answer the
guestion buf nerther statement alone is sufficient.

id) Mark choice (4) if both the statements [ and IT toeether are not snfficient to
answer the question and additional data 1s required.

Horded: (08 e 28 199, 0 180 L 1T e dben fle Do
[Saddareyy SSodomr W@AATFo. AN OF0TR)
SHETFA0D, 290G PNASFren (04 5 AAPTITH) 20 00 E
STrfaTen @Sy B0 ed o AT00TE. & DT ORE

1806 SrQdd 8 arEren daOarhod (1) dods (4) S58 B0
820 2aTENa) D0nE Sabod,

(a) (239350 DATEPS0 3T 305 (DSSGE0 T aressd Somadnon
a0 2aren (1T Hlodiod.

(b} (8397 50 HAFCTO0 B0 00 D0 1 AT Ho Do S
o 2aren (O Mlodod.

(e} 9150 ASFLFA0 QD 0005 Eadoren I T a8 HTiasucn
wodnd o 88 Sro Houae FEFS O 2 () m
thGodod.

(d) (399350 SATTH0 BO )0CNE [SedSiren L I EOR ST aTreo
% e OFT0d0 e@dHd00nd o Baran (1) mhdonod,

How obd is Ragha®

g Sy, Jeds”

I, Todoyis s b day

& S ool intha Ber

IO, Ome vear after he will be priee as old as 16 wears aga,

LS D000 BENTO A SR 0 2000 Boo Sobig

dén‘."ﬂ.
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Data Sufficiency

STro® DTG

Note: This question is followed by data in the form of two statements labeled as |
and II. You must decide whether the data given m the statements are sufficient
to answer the questions. Using the data make an appropnate choice from (1) to
(4) as per the following gmdelines:

{a)  Mark choice (1) if the statement | alone 15 sufficient to answer the question.

(b)  Mark choice {2) if the statement II alone 1s sufficient to answer the question.

(¢) Mark choice (3) if both the statements I and IT are sufficient to answer the
question but neither statement alone is sufficient.

(d)  Mark choice (4) 1f both the statements I and II together are not sufficient to
answer the question and addibional data 1s required.

JBrS: 198 15915 28 159). T 1208 LI e Hhien e Dok
|Deddiaren OFodor  adjalfon.  9d)0 40T
Eadiriod, 20 A 1HSOTren 1045 AdrEarR ) ol o
ATEEren ederalr Bo @l O AT0oord. & JTGat

1Bod SrOadE drEe) aadirhod (1) od (4) S65 HO
0N a0 QoS Juhod.

(a) 1899150 MATTH0 [T H0C0H) 550 1 P8 SO inons
a0 230 (1) e Hlood.

(b) 12343 5 DSTFEFA0 JTS J0CHE [DAIN0 I S Hoaannnas
2 2ara2n ) hlodiod.

() |24 50 SaFrorEao Rm)odhs 1Hddaren 1L I ey Horiay oo
em0chey 2 2583 Sror Somao TENFE o =g (1)
Moo,

(d) (9150 SATgrdo 25 yochd HddTren L O e Sror Homao
8 @ciday OB 040 eSH00008 o 2020 (@) mhiodod.

Whar i= the valwe of the mregesr w?

STrTroga wodlog) Do e

I w iz amultiple of 3.
A clog, rdee W,
I 420 =w =425
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Data Sulficiency

STF0? DUDO

Note: This question s followed by data in the form of two statements labeled as |
and II. You nmst decide whether the dara given in the statements are sufficient
to answer the questions, Using the data make an appropnate choice from (1) to
(47 -as per the followe mndelines:

(a)  Mark choice (1) if the statement I alone 1s sufficient to answer the question.

(b Mk choice (2} if the siatement IT alone 1s sufficient to answer the question.

(c) Mark choice (3) if both the statements [ and IT are sufficient to answer the
question but neither statement alone 1s sufficient.

id)  Mark chotce (4) 1f both the statements T and 11 together are not sufficient 1o
answer the question and additional data 15 required,

resed: (063 D30 2.8 1H49). 7D (804 L T ed hidpen fey Boch

|Dalanre) OFFQEOT Sof0Fon. Jh)s OT0TR)
OO, B M (DSETTON S5 SATETRTR) B 3045950
DOrgeren egErcir o el Dt AP0oord). & AP Gty

B0 Ardodsd amaEren SAHGrNoD (1) od () S8 HO
E 0 2T 200 DOmE TAbOsS,

(a) 334150 SATEFG0 E0 06505 (Haido 1aATdah Sorgasond
Py 2aren (1) o0 0o,

(b) (2150 DAPGEFH0 FE 005 D@0 11 27 @ah HorEson s
o) 2aren (2) e Sotiod,

(c) |91 50 DaTrPA0 20 1080 hSoaren 1L 11 68 Horanon
mochd o w8y ST Aomo TEFS Dy aam @)
8ohod.

(d} (291230 AP IFA0 DT A0CD 50 [DamaTen L 11 Eed SrE Horiao
8 aacicha) TPOH0 SN 0S0NS 2 Bara (4) T Rdosod.

Whas percsntge of stdents in the coll=gs recsve schialarships?

B A Ll e Bt a’:-'n-m.:am:l Deridon woo Jod!
=

I The cotal momiber of stodawis o the collene is 2000,

S oy Do El-:n‘lllg.'ru l!:m.wflll AL

T The percentaps of shicdenss dhar receive schplarships in e final vear is
4% more than the smedenss that receive schinlarships in the ficst v2ar

2ucid faosd-da ﬂn;.l-;!.rg' Samdodds oS b Fraany Hal P

Roiedego i’ sEclioe ol 0 Rons Tl e 2.
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Problem Solving — Sequence and Series
RB0] TR eSS, fraden

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Arsd: D8 DSOS Ddopen ™ efoen M 28
E020DS AaLSTR) TSENTIon. 18 (HI1SR PR
20D T DDITO AN0G DO HOND BT )T
|50 0D ATAE Zi0N0 BeiSoE a0 oire).

MOUSE : KPSTC : LIGHT :

{1} MGHEU (Zy JJEIR (3) JHEGR (4) MJHEKWV

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 22 Question Id : 9126062882 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
R FOD — BAEITL. Faoen

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Qe 1H8 1HSE DS Hopen T efoen MR 2.8
0208 ahST) FSTIon. D8 (D8R red
FCI ) DD DT AOG A0 0D 220D D) T
0|5 Rcharas Zoto Bexishom Srooi>e).

B.: g4 404X %

(1) 72 (2} &4 3} 96 (1) 108

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 23 Question Id : 9126062883 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
R FOD — wAEITW. Faoen

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Arddd: 8 1HNHSEr A dopien T wfoen TR 2.8
BH2EDS oHATI) ST on. P8 (HS rdd
[ ) PED DAL DOG A0 B0 VIV Ja)TI
€008 Ao ara8 oo Eeidhom syrdoire).

+0 YRS

(1)18 2) 42 (3) 54 4) 39

Options:

1. %1

o ® 2

3. % 3
4 ¥ 4

Question Number : 24 Question Id : 9126062884 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
A2 FOD AESTe, Fraen

Note: The following question has a sequence of numbers or letters that follow a
defimte pattern is given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattemn.

SRS D8 HNSET 0P Dopen T ofoen Mo 28
5020 AoDSTFR) FEWTYon. 1PS (HH S TYD
RIS TED DAITE HOB DO oND 220 2T
@50 0DSTE 200 Soisom JrdoTd.

123 @ 169 11 235

(125475 (2) 8525 (3) 12575 (4) 15625

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 25 Question Id : 9126062885 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
R FOD — wAEAT. faven

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

ardidd: (08 1PN SO ad)d domien T @foen MR 28
BEH0DS AaDATD) TFERTIon. (N8 (PSR gred
Q) PED DAL OB A0 B0 B2V D) T
055 Aaaras oo Eaiitiom srdotre).

09 + 1200 ;. 48 :

(1349 (2} 52 (3) 34 (4) 63
Options:

1. %1

o %D

3 ¥ 3
4. v 4

Question Number : 26 Question Id : 9126062886 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
R FOD — BAEITL. Faoen

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Ardd: 1H8 1595 ad)S dopen M efoen MR 2.8
020D AahSTD) FSODTIon. D8 (H115D oD
[CI ) BPED DT DOG DO 0D 220D D) T
|50 Aoharas Zioio SexisuoE ayrdoire),

63 ¢ 49 -+ 35 -

(1)21 (2) 28 (3) 32 (4) 27

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 27 Question Id : 9126062887 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
m.':u.aﬂ;s DD AEATe, $raoen

Note: The following question has a sequence of numbers or letters that follow a
defimte pattern is given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattemn.

ArdSd: (D8 1D SET ad)d doplen TR oforen MY a8
EHDODS JoDSTR) TN, (B (D) SD rYd
[ LD DAITO OB HO oD BTV Q)T
80 RoLarNE Zono Baisom b od).

QPON . MLKJ :: XWVL |

(1}PORS (2} SRPQ (3} TSRQ (4) USRQ
Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 28 Question Id : 9126062888 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
R FOD —— BAEITL. Faoen
Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled

by the correct answer from the four given options to complete the sequence

without breaking the pattern.

Ardidd: 8 NSO IS dopien M efoen M 28
Baoadded Jdobdara) arSumrion. D8 (DS gre
R A T DDFTO A0S H0 oS 220 JA)TI
a5 Aobharas Ziofo SeisoE syrdoird),

House : Door :: Compound T

WD SRKD : Rpad ?

(1 pGare (2) Fence (3} Fomndation (4) Wall

3% orido g e Y Be

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 29 Question Id : 9126062889 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
R FOD — BAEITL. Faven

Note: The following question has a sequence of numbers or letters that follow a
definite pattern is given. Each question has a blank space. This has to be filled
by the correct answer from the four given options to complete the sequence

without breaking the pattern.

APt 1H8 1HSE DS Hopien T efoen MR 2.8
E020D&8 dabhSTr) TFSaon. D68 (DS ardd
FCI)A BED DT OB A0 0N 220D JA)TA
£ Aoharag Zofo Beitom rdoire).

F. R )7 L 222000

& ——

(1)222 (2) 22 (3) 22222 (4) 222222
Options:
1.v1
o %D
3 ® 3
4 % 4

Question Number : 30 Question Id : 9126062890 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Sequence and Series
A2 FOD AEIATO. FEa0e

Note: The following question has a sequence of numbers or letters that follow a
defimte pattern 1s given. Each question has a blank space. Thas has to be filled
by the correct answer from the four given options to complete the sequence
without breaking the pattern.

Qresed: D8 1D SEr DIS Howen M ofoen MR 28
1502089 DaHATY) FBNTIon. DD (HHSD e

AR T DDNTO DO0G A0 @O 22 )5
e9cd| ) mohdras Zioto EeiiSvon ardowrd.

I e A BTk 11

(1)42 (2) 56 (3) 64 (4) 65

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 31 Question Id : 9126062891 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

H0RE : (DHF)OS HOFOHIA HOODAW :

(1) FLASH (2) CROWD (3) JUDGE (4) SCANT
Options:
1. %1
2 ® 2
3.¢3
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4 % 4

Question Number : 32 Question Id : 9126062892 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

H0RE : (HF)0S HOFOA HOOHAD :

(1) ABC (2) POK (3) MNP (4) XYZ

Options:
1. % 1
o %D
=¥z
4 % 4

Question Number : 33 Question Id : 9126062893 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HONE : (HF)OS JOFOIO HOOTDHAW :

1 I 1
1) — 2) —— 3)
( 100 { 1000 ( 10000

1
1000000

{4)

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 34 Question Id : 9126062894 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : From the question. pick the odd thing out :

HeRE : 153) 05 JOFOHIA HOOTHAD :

(1) &l (2) 64 (3) 49 (4) 25

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 35 Question Id : 9126062895 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : From the question. pick the odd thing out :

HDRE : (D)0 HOFOIA HOOHAD

(1) D (2) H (3) L (4) P

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 36 Question Id : 9126062896 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern, observe the same and fill i the

blanks with suitable answers.

HDE: 158 NS 28 PO IS DoDATY) TeNT o0, es
DODATY  ANDOD  HOAHH DATTTOE grédod
s OO0 a.

B.F. J P

(T (2) U (3) V (4) W

Options:

1. %1

e

3 ¥ 3

4. # 4

Question Number : 37 Question Id : 9126062897 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill 1n the

blanks with sumitable answers.

HORE: (H8 (HN S 28 OIS DADATD) 3D o0, e
DANSTIY  HHV0D  HOAHH  JTrTTOS Yo
s Oo0d.

B 15 38T ?

(1)143 (2) 134 (3) 119 (4) 123

Options:
1.91

o ® oo
T %3
4 % 4

Question Number : 38 Question Id : 9126062898 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Note : The question follows a definite pattern, observe the same and fill 1 the

blanks with suitable answers.

ML : 1H8 1H91S 28 PO IBS JoLAT) reIaryan. e
DADSTAY  MHHdAOD  HBAHH  dSrTTOS 4008
ayrfood.

358 17 B8
(1)19 (2] 23 (3) 20 (4) 33

Options:
1. %1
o %o
3 %3
4 ¥ 4

Question Number : 39 Question Id : 9126062899 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill i the

blanks with suitable answers.

HDE: (D8 DS 28 PO IS IoDATY) TFe3T ) an. es
DOHSTAY  HAHDOD  HOCAHH  SATTTOS grYed
4 elelnTela )
132, 10 7 42, 2o,
IRE: @ 12 31, 4 11
Options:
1. %1
o %2

3 % 3
4 ¥ 4

Question Number : 40 Question Id : 9126062900 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern, observe the same and fill 1n the

blanks with smitable answers.

BNE: (HB 1H9)S 28 DB DohATY) T3 yan. e
DAADATAY BN DOAHMN  DATTTOS YO
0004,

L. 2, 0, 12, 2T, . 121, 248, ........

(1158 (2) 64 (3) 86 (4) 112

Options:
1.v1

o ® oo
3 %3
4 % 4

Question Number : 41 Question Id : 9126062901 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill in the

blanks with suitable answers.

HmE: 158 HN)S 2.8 OIS DODATY) arednmryon. e
AANATY) Ao HOALH  AIrTTesS Yo
0008,

65, 61. 56 50.

{1} 43 (2) 42 {3} 41 (4) 44

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 42 Question Id : 9126062902 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern, observe the same and fill in the

blanks with smitable answers.

B : (DS 1H935 28 PO ISDS DoDAT) DT 0. es
DADATRY  HADAOD  HOAHMN  DAFTTOS PO
000,

107, 17, 5%, 2, <

(13} 17 2) 16 (3) 14 i4) 12

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 43 Question Id : 9126062903 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill in the

blanks with suitable answers.

HORE: 1HB (D)5 28 PO ISH JODATD) e300, €8
AAVATY),  HNV0D  HOALH  DAITTTOE  FrYodD
20006,

i1, 27,51, 133

(1) 173 (2} 163 (3 171 (4 179

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 44 Question Id : 9126062904 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note : The question follows a definite pattern, observe the same and fill 1n the

blanks with suitable answers.

HONE: 1HB (HNS 25 DO IBTD DODATFY) FESDT ) om. &
DODITFDY  HDH0D  HOAHH  DITrTETOS FFYON
000 d.

0. 98, 94 85, .44 8

(1)32 (2) 36 i(3) 48 (4 09

Options:
1. % 1
o %D
3 %3
4 v 4

Question Number : 45 Question Id : 9126062905 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note : The question follows a definite pattern, observe the same and fill in the

blanks with suitable answers.

HODE: 1HA D915 2.8 OIS DoHATY) TE3WT a0, e
DODATAY  HDHJ0D  HOAHMH  DATTTOS FPON
st OO0,

LIt L R S

(1) 67.5 (2) 655 (3) 60.5 (4) 62.5

Options:
1.v1

o B oo
3 ® 3
4 % 4
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Question Id : 9126062906 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 48)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Problem Solving — Data Analysis
p2odg FSd — OTOF DBND

Note: The following Bar Diagram shows the marks obtained by 3 students P. Q. R,
S. T in Physics (Ph) and Chemustry(Ch) out of possible 140 marks in each

subject, Based on the data answer questions 46. 47 and 48,

AFSS: S So0d Eb:né wdo Srddd :)E‘;SE.-JH} P.QR S TwFTas v { Ph)
& Ar odrad o ([ Ch) S'ar 140 SHEVEEE RS .-:a;ja e, o
Eolelo 3V BWOLECON. S GTPoB0 WITGoT 46. 47. 48 RE USRI

EJ::S-M'.‘..

140 130

120
110

100

P a R 5 T

Ph= Physics (a8 wv0) Ch= Chemistry (0201 Qo)

Sub questions

Question Number : 46 Question Id : 9126062907 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Marks obtained by S in chemustry i1s what percent of the total marks obtained

by all students i chemustry

2o DU GOA TS JDAD AFE 6" S 6o TR
SR A6y © TS0 Jod?
(1) 25% (2) 30% (3) 32% (4) 35%
Options:
1.91
o %2

3 ¥ 3
4 % 4

Question Number : 47 Question Id : 9126062908 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the marks obtained by T in Physics were increased by 14% then what

would be his approximate new percentage m Physics when the maximum
marks in Physics were 1407

T 20 538 7008 20® drdyody 4% Dodd 140 Jody o may

@3 o ardy) o Fdo RAFWIT Jod?
(1) 38% (2) 41% (3) 43% (4) 45%

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 48 Question Id : 9126062909 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What 1s the ratio between the total marks scored by Q and S together in

Chenustry to the total marks scored by P and R together i Physics?

Q. S v @de EDD GFcA TReS' SD\D 2wodo drdywer P . Reo

2008 S0 a8 TR HDD Ddo ATEY) LT (B J0yD Jod?

(1) 17:19 (2} 23 .15

(3) 23 :21 (4) 17 :23

Options:
1. %1
o %2
3. v 3
4 % 4

Question Id : 9126062910 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (49 to 53)
Cuesticon Label | Comprehension
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Problem Solving — Data Analysis
PFY Fed — OT0F DANED
Note: The pie chart given below shows the marks obtained by a student in 3

subjects out of total marks 200, Based on tlus data answer questions 49 to

55,

Ards: & Sod -nr::b::: ‘B’ Doded® ode 900 Ardy 0 e 8 ﬂ:a}.gé 5
Dodrees’ SO Sty v DdTren RIGRGTAD. B wordorr 49 dwod

53 20 o DF) 0H DAFTTIIe.

Sub questions
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Question Number : 49 Question Id : 9126062911 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The marks obtained in Maths are

itichoes’ :EJQ.:: S e

(1) 220 (2) 200 (3) 180 (4) 210

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 50 Question Id : 9126062912 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The total marks obtained i languages are

arijees .51?3':]:: Bdo AT, en

(1) 280 (2) 260 (3) 273 (4) 295

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 51 Question Id : 9126062913 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The percentage of marks obtained in Maths, Physics and Chemistry among

the total marks in all the five subjects 1s

AeddoeS AF. PSS TR0G AT . SFADD TR0 BT SO\ JE) en Jado

260 DQoired' Jrdy © 2oded” Tdo

(1) &-Bgﬂ-o (2) 454%1-9 (3) 79 2% (4) fjggﬂa

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 52 Question Id : 9126062914 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio berween the marks in languages and other subjects 18

PADOIOH DROFVS'D Bd v ANGe RAG DROITS D A0
20grdSd fu Jind

(1) 11:24 (2) 11:25 (3) 13:23 (4) 15:21

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 53 Question Id : 9126062915 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The marks obtained i English are

e50(10e)” SV SAedd) e

(1) 180 (2) 170 (3) 185 (4) 175

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 54 Question Id : 9126062916 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: In a group of 160 people. each person speaks Telugu or English or Tamil. 20

persons speak all the three languages. 100 persons speak at least two

languages of the three. Using this information answer questions 54 and 55.

aradr 160 Sood bg_g.meﬁ" 20 518 Sewrhd I8 woffo U8 Sdbvo Arbdriud.
DBeS" 20 2008 oy raus Areddod. 100 2008 &d%o Bocy i
SFEHEALE. & DIATO0o WEdo™ 54 Jobaiw 55 03 D BIATET LD

oraooG..

How many persons in the group speak exactly two languages of the three?

Jod 2008 Arch WS’ POy ST So wrREw Arbdhody?

(1) 65 (2) 80 (3) 75 (4) 70

Options:
TS ICET 2018



TS ICET 2018

1. %1
e g
3 % 3
4 # 4

Question Number : 55 Question Id : 9126062917 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Note: In a group of 160 people, each person speaks Telugu or English or Tanul. 20
persons speak all the thiee languages. 100 persons speak at least two

languages of the three, Using this mformation answer questions 54 and 535,

arasa: 160 Sood .‘::Tx_g}uﬁ' 29 58 Benrld S erotfo T8 davio Arbddud.
D06’ 20 20od AT RO AFLEAL0S. 100 2od SJDe Dok e
Ao, & Dararde wordor™ 54 udain 55 ) UL VAT

o065,

What percent of the persons who speak only one of the three languages
among all the persons m the group?

& S raud Ar 2500 w8 i ARG U Sisow Tde!

(1) 37 (2) 36 (3) 365 (4) 372

Options:
1. %1
o R
3 % 3
4 ¥ 4

Question Id : 9126062918 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No
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Question Numbers: (56 to 60)
Cuestion Latbel COI‘I‘lpI"EhEI‘lSiOH

Problem Solving — Coding and Decoding Problems
22y dos — §'Gof, ASAoh ddgen
Note: English alphabet 1s coded as follows:
(1) Each consonant is coded to its next 3™ consonant cyclically.
1e.BiscodedasF. Frol..... X10B, ZtoD. ....

(n)Vowels AL E. 1. O. U are coded to Vowelsas AtoU, Eto O, ltol. Oto

E.and Uto A.

Using this coding pattern, answer the following question.

ArD: w8 EEG" vod wioaTOR & o6 Do Ao G

(1) D3 TeaAr o ST (S 23, Jrcd T ddaborr 54 dabadis.
warBAoEFmre. Faolmr, ... XdoBrmr ZaxDroe. ...

MA.ELO UewdADUrmr, E0O0Omr Tl O Err,
So8ciu U A e £& dabadad.
& EE DS egrdorT B HF) D VIFETR0 FI(L.

Sub questions

Question Number : 56 Question Id : 9126062919 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The word VOWEL 15 coded as

VOWEL & £& Do

(1) YEZON (2) YEZOQ (3) YEZOP (4) YEZOQ

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 57 Question Id : 9126062920 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The word CONSONANT 1s coded as

CONSONANT £ & Do

(1) GERWERURX (2) GFRWFRURX

(3) GESWESUSX (4) GETWETUTX

Options:
1.91

o oo
3 %3
4 % 4

Question Number : 58 Question Id : 9126062921 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Code word for WORD 15

WORD ) E'& 260

(1) YEVH (2) WEWVJ (3) ZEVIJ (4) ZEVH

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 59 Question Id : 9126062922 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The number of letters that left fixed under this coding is?

& §& ﬁg&ﬁ‘ Ay ewgoren rHE oS E& Sotegeon?

[ O]
-—
[ B

(1 1 ( 3) 3 (4) 4

Options:
1.v1

o oo
3 ® 3
4 % 4

Question Number : 60 Question Id : 9126062923 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Code word for ENGLISH is

ENGLISH €3 £'& 5d0

(1) ORKPIXL (2) ORKPIWL

(3) ORLPIXL (4) OSKPIWL

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 61 Question Id : 9126062924 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
P2 Fed — SA0R. A5AOR HdED

If IMMUNE is coded as JSSTRK then code word for MENU is

IMMUNE &0 JSSTRK re €46 6 MENU & §& ddo

(1)SRKT (2) KSTR (3) SKRT (4) TRSK

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 62 Question Id : 9126062925 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
X s — SA0R. AEBOR BN ED

AISLE 1s coded as 0910111213 then code for LESS 1s

AISLE &30910111213 e §'& 35 LESS € §& S0

(1)12131111 (2) 11131212

(3) 13121111 (4) 11121313

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 63 Question Id : 9126062926 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
s Fas — SO0, ASA0R H0ge
Note: Let n™ letter for 14<n<26 in the English alphabet be coded as (n-13)" letter

and n™ letter for 1<n<13 be coded as {u—li]lﬂ' letter. For this coding pattern,

answer the question

ArSS:  esor pgsared 14<n<26 wab n > u!u-.‘!}llm-i}] 3 wEdod Ar
1<n<13 ecb n & wfody(n+l3) 5 widod ar 5& dobndod & 5&

RoDAITHod) R VL RAFETEUS fb8odod.
Code word for GAME 15

GAME & 8'& nso

(1) NTRZ (2) TNZR (3) TNEZ i4) TNSZ

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 64 Question Id : 9126062927 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
Py Fod — SAoR, AFAOR A0 e

Note: Let n™ letter for 14<n<26 in the English alphabet be coded as (n-13 '™ letter
and n™ letter for 1<n<13 be coded as (n+13)™ letter. For this co ding pattern.

answer the question

Arad:  wof widared’ 14=n<26 wdb n 3 wiody(1-13) S widodar
1<n<13 wob n 3 wgoedy(n+13) 3 wided Aar £& daobedod & EE
2oDArHod DI OD VIFTTL oo,

Code word for ALERT 15

ALERT & 8& Do

(1) NYSEG (2} NYREH (3) NYREG (4) NYREF

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 65 Question Id : 9126062928 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
Py Fed — SAoR, ASGORM A0 e

Note: Let n™ letter for 14<n<26 in the English alphabet be coded as (n-13 '™ letter
and n™ letter for 1<n<13 be coded as (n+13)™ letter. For this co ding pattern.

answer the question

Arad:  wof widared’ 14<n<26 wdb n d wiody(1-13) S widedar
1<n<13 wob n 3 wgoey(n+13) 3 wEded ar §£& dobedod & EE
ADAIrRoL DL VAT (lodec.,

Code word for VICTORY 1s

VICTORY & B& Sae

(1) INPGBEL (2) IVPBGEL
i3) IVPGBLE (1) IVPGBLM

Options:
1.9 1

o oo
3 ® 3
4 % 4

Question Number : 66 Question Id : 9126062929 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
P20 s — SRR ASGOR Hd e

66. If a month starts with Monday then the date on which the Second Saturday
falls 152

2.8 3w Poorded 2nduond 215 #Dorde 2 BLHS® Sioed?

(1) 12 (2) 13 (3) 14 (4) 13

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 67 Question Id : 9126062930 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
p2oF s — SA0R. ASAOR HH e

The angle between the two hands of a clock when 1t shows 5,12 hours?

28 fdcirdod” Dioado 5.12 fo. BrdoddLyyc Adairdo Socy Sowoe
m5 E'mo
(1) 76" (2) 80° (3) 84° (4) 86°

Options:
1. % 1
o %D
3. v 3
4 % 4
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Question Number : 68 Question Id : 9126062931 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
pad >es — SA0R, ASAOR ddsED

At what time between 10 am and 11 am the angle between hands of a clock is
:IE'
162~ 7

0
w8 fdobood” &. 10 - 11 fotsw Bue ol Suoewe 2ue Soo 162% ™

DY Adairded” daivabo dod?

(1) 10.25 am (2) 10.30 am (3) 1040 am {(4) 1045 am
& 1025 &. 10.30 e. 1040 &. 1045

Options:
1.¥1

o ® oo
T %3
4 % 4

Question Number : 69 Question Id : 9126062932 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
P2 s — SAOR. AFAOR BN eN

If A 1s the brother of the son of B's son. how 15 A related to B?

B $a750 Lardas A Desad, B § A Dowodndy?

(1) Uncle (2) Grand Son (3) Son (4) Brother
S0 AT 50 S aed =W Fs bile b Trh) Tesdoey

Options:
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1. %1
e g
3 % 3
4 # 4

Question Number : 70 Question Id : 9126062933 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
2y Fad — SGOR, ASBOR dHDED

A loan application was submutted at a bank counter on a certain day of the
week. After venfication of the details the application was forwarded to the
Manager on the next day. The Manager after scrutiny sent the application the
same day to Head Office. The next 2 days were bank hohdays and the loan
was sanctioned next day which was Monday. Which dav of the week was the
application subnutted?

28 38 ©) 80 T°0ess"D w8 Bard (o) G8aTRD o) BT,
DIATVRA POEFrHD SIS GO A0S B P WwoHETS Dodedod.
0B G2 o wASE SEarA E DS Dodre. Sard Do Bwen

Eriof) € DOY SICe Ju & 6B Far 0y Do2rded. By owrdd

Ber Jinordo wond Goerin dansod) fw 26?

(1) Monday (2) Tuesday (3) Thursday (4) Frniday
F 2060 Sootivardo Mot do $ogado
Options:
1. %1
2 %z
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3. v 3
4 % 4
Question Number : 71 Question Id : 9126062934 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Problem Solving — Coding and Decoding Problems
P2y red — SGOR, AFGON DD

A local train leaves the station at regular intervals of 45 minutes. Arnving at
the station a person realized that the last train left 15 minutes back and next

train is at 8.45 am. When did the person arrive at the station?

28 6°5¢5 Jen .8 JND A PRI 15 Ao Sdvedood. w8 I8 DD
53088 wpdy Sen 15 Dindre H0d J'owodd SdhTds & 845 &

Scvenduod) dbod. e 318 DS 5D DA dod?

(1) 7.45 am (2) 8.00 am (3) 8.15 am (4) 8.30 am

&. 7.45 &. 8.00 & 8.15 &. 8.30

Options:
1. % 1
o %D
3.3
4 % 4

Question Number : 72 Question Id : 9126062935 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
P20 s — SRR ASGOR HH e

Six friends A. B. C. D. E and F sit around a circle facing the center such that
(i) A is between C and E: (ii) E is between D and F: (iil) B is between C and

F and to the left of C. Who 15 sitting between A and B?

A B.C.D.E. F @35 6 2308 dosdoe :&??dnﬁ‘ Sod wdlower (1) CLE
o Sody A (n)D.Fe Socg E: (1) C. F & Sogirar C £ dddo pipm B
Ea-ﬁg-._lu a?da'}a“lm. ABw .‘.m;'jag S.J"ma.ﬁlﬁi;ﬁd}'?

(1) C (2)D (3) E (4) F

Options:
1.¥1

o ® oo
T %3
4 % 4

Question Number : 73 Question Id : 9126062936 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
P2y Fads — SHoh, ASGOR dadgen

Let the symbols a, 8, y,and & denote the arithmetic operations of addition,

subtraction, multiplication and division respectively. Then,

@, B,y,and § eo HEHrr Srds. HHDS. fonstdo. eriifdo wos
DoSchwR m:ﬂ:aﬂluﬁ:mﬁ'ﬂd. L2 A

100a1085815y5 =

(1) 27 (2) 52 (3) 68 (4) 124

Options:
1.91
2 %
3 % 3
4 # 4

Question Number : 74 Question Id : 9126062937 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
X s — SA0R. AFGOR DD ED

For two non-zero numbers m and n define * by:

I, 1l BIFRALB0 RDow{uE) * A Sod Do DLW

m*n=—+ 1. Then 0N

mn

2018

5 (8 )-

k=1

(1) 1008 X 2018 (2) 1009 X 2019
(3) 2017 X 2018 (4) 2018 X 2019

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 75 Question Id : 9126062938 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Problem Solving — Coding and Decoding Problems
pad >es — SA0R, ASAOR ddsED

For mtegers x and y define = by
RPTOSTD X, Y 0% ¢ A S0b Do IODY:

xxy=[(x+yr—-(x—y)ad xAdy=(x+y)P+(x-y)°

Then wipneo (3+5) = (142) =

(1) 13X 240 (2) 12 X 260 (3) 12X 280 (4) 13X 480

Options:
1. % 1
o %D
3 %3
4 v 4

Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 9126062939 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

enoSrichad &emgﬁa

(ﬂ_m*:lr: - ﬂ.m” = m =

(1) (n—1)" (2) n* 1 (3) — (4) nn

n—1

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 77 Question Id : 9126062940 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Avithmetical Ability
eoSricda &mgée
 d - 1 e

2-" 16010-3x) K=
(1) 6 (2) 4 (3) -0 4y -2

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 78 Question Id : 9126062941 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

T To x| &mgéa

20 men can do a prece of work mn 10 days workmg 6 hours a day. How many

men are needed to complete double the work m & days working 10 hours a day?

20 Suod Svduiven g 50D e 6 fiotien D 10 Bazers
Lrédobrod. Bwd 10 doben 3DoRr | e DS 08oi) DI 8§ Bwed'

Drodaind Joddiod @dHhde!

(1) 25 (2) 26 (3) 28 (4) 30

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 79 Question Id : 9126062942 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eooSricdad &mgéa

If the ratio of the areas of two squares 1s 4:7 then the ratwo of the perimeters ol

the squares 157

Boch SdGTre pFere Aind 4.7 vond o8 dotnSode Jiyd?

(1) 4:7 (2) 8: 47 (3) V7:2 (@) 2:7

Options:
1. %1
o %oz
3 %3
4. v 4
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Question Number : 80 Question Id : 9126062943 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esosricded :}mgﬁa

x=5-27V6 = me:%:

(1) 23 (2) 242 (3) -243 (4) -2v2

Options:
1. % 1
o %D
3 %3
4 ¥ 4

Question Number : 81 Question Id : 9126062944 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

oSt E:n:»gﬁa

Fork £ 0. ifa = :W—%%Thmﬁ a>+3a=

F 1 .
k =0 a= {fﬁ—ﬁf—? Eﬂﬁﬁa,ﬂs-!-jﬂ:
Y

- 2 i
(1) = (2) = oy = .

Options:
1. % 1
o vz
3 %3
4 % 4

Question Number : 82 Question Id : 9126062945 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Arithmetical Ability

eosSricdo .ﬁﬁmgﬁﬂ

Which of the followmg numbers 1s divisible by 117
Sob RopjLES” A6 11 & erfodechdn?
(1) 1111111 (2) 9999999 3) 99999 (4) 999999

Options:
1. % 1
o %D
3 %3
4. v 4

Question Number : 83 Question Id : 9126062946 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

enosriched ﬁvmg_fﬂa

What 1s the number 1n the umts place of (3 5‘)}5*3?

(359)*7 &'D abrde gnanes’m 02 DA

(1) 1 (2) 3 (3) 7 (4) 9

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 84 Question Id : 9126062947 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

espSricded ﬂnmgﬁa

The ged of two numbers 1s 85 and their sum 1s 1020. One such pair of the

numbers 1s
oty Dowfe (idrer 835, ored Dooeio] 020 eserol] 28 oarjoineiyo

(1) 425,595 (2) 500,520

(3) 510, 510 (4) 350, 650
Options:
1.91
2 %
3 % 3
4 % 4

Question Number : 85 Question Id : 9126062948 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esnsricha .aﬂmgéa

What is smallest number of 5 digits which 1s divisible by 12, 15, 20 and 357

12, 15, 20 s08ain 35 e erfodhed SS;& > e903e “'.-«:nu;_u}is 2 7

(1) 10070 (2) 10080 (3) 10090 (4) 10110

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 86 Question Id : 9126062949 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability
osritdd F 200 &

@)

3.2575757......=%. ged (a.b)=1 = a-b=

3.2575757...... —‘f;, 63ee (a.b)=1 = ab=

(1) 149 (2) 447 (3) 2235 (4) 3257
Options:
1.1
2 ® 2
3 %3
4 % 4

Question Number : 87 Question Id : 9126062950 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

enosrichad &mgﬁ

I.'\:I u

25x
II = of a number x 1s subtracted from R the result 15 320, Then x

x abog), 3 25 ey 22X S0l Shdatrre pdao 320. RN X =

".,.fl
IJ

(1) (2) 1024 (3) 2048 (4) 4096

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 88 Question Id : 9126062951 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

0 EHelD DG o
=S
The | t 1 41 % @
dAlrgest ¢ 0 TS T M '
1 "ll'_:,t““r ’Illll:il'lg 5 23 a 16 15

16

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 89 Question Id : 9126062952 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eoo SIS &m%a

If a =V11. b= Y23 and c= Y119 then the decreasing order of a, b, ¢ 1s

a=V11, b= V23, c= V119 esowéd a, b, ¢ © es8re g0

(1) a=b>c¢ (2) b>a>¢ (3) a=>c>b (4) c>b>a

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 90 Question Id : 9126062953 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

epogreha anmga-:

d_rff:se. of ﬁ% % of x=962 = x =
x g, 5-% gy 4% =962 = x =
7 3

(1) 2100000 (2) 420000 (3) 630000 (4) 840000

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 91 Question Id : 9126062954 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esosrichad aﬂmgﬁa

Anil, Suml and Akhil are trading of same goods. Aml sells his goods 25%
cheaper than Suml and 25% costher than Akhil. Then Akhil's sells goods
cheaper than Sunil by percentage of

20265, 7S Sobaty eadeS en 28 G828 DRV Doeodod) a}“ﬁ.ﬂhﬂn
B0y 6. DS €y 25% DSy . wdd £5y 25% I D BOD edS
Sanped ey BoaTm) d. RN m0e 56 Say eadled 30 dRwaper Bd
Jod Féso ﬂé}b:};ﬁm

(1) 40% (2) 33&% (3) 30% (4) 25%

Options:
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1.¥1
o ® oo
3 ® 3
4 # 4

Question Number : 92 Question Id : 9126062955 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eoSritio 5"’-"%"

If the cost pnce of 11 mangoes is equal to the selling price of 9 mangoes then

percentage of profit 1s

11 &r0E D) By 66 058 9 Ardd DV 8dy)so DOD HAFIS

erSwErdio

11 1 —— -
GE= (2) 11 @) 9 (4) 227

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 93 Question Id : 9126062956 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evoSnciad &m%u

Mr. A has purchased a property and suldé of the property with 10% profit. If

the profit received through this sale is Rs. 60000, the cost price of the total

property (in rupees) 1s

w8 DD A £ wocues’ % 5 Dody grrrly 10% ererds wls) dbdo. &

2] So PO oD ergo 60000 drarabeond, Jude ud §2) 60

(dorarodoes”)
(1) 1200000 (2) 900000 (3) 7500000 (4) 600000

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 94 Question Id : 9126062957 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evodricia &mg&ﬁ

A. B entered mto a business with a capital of Rs. 9 lakh, Rs. 12 lakh
respectively. After 4 months C has joined the business with a capital of
Rs. 15 lakh then the share of “C" in a profit of Rs. 6.975 lakh at the end of the
year 15

A. B w0 D00 6. 9 wgen, dF. 12 v Drudded wE TIrdes’'s

039006, 4 Jvw LTS ar.15 viu SJarudded C 68 Db,

RODST0BILD &F. 6.975 Lo orHod” ¢ e
(1) 257500 (2) 232500 (3) 225000 (4) 205000

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 95 Question Id : 9126062958 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

2008 My Enmgaa

. " : : : g - 0 i
A, B and C entered mto a business partnership. A got ; of the profit while B

and C distributed the remaimning profit equally. If C got Rs. 4000 less than A,

their total profit was

A B, Cenasg &.méﬁ'i aﬂéi‘lﬂ-ﬁaﬂﬁﬂ = ;_gf}?mf}lﬁ_ erEioes % S ertie A STadme
Notter UDE;PE};L B.C S_‘:{gmﬂ Do Do 8. C TobS erdio A gy o,

4000 S5y & o, d0ge S0

(1) 36000 (2) 40000 (3) 42000 (4) 44500

Options:
1. % 1
oD
3 %z
4 % 4

Question Number : 96 Question Id : 9126062959 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

esoSricdod bmgﬁa

Two taps A and B can independently fill a tank i 30 minutes and 45 nunutes
respectively and a pump C can empty full tank mn 20 mnutes. If all are opened
for 10 minutes and the pump C is closed. then the time required to fill the tank

(in minutes) 1s?

Boch Heren A. B DADdrr w8 FBI Sddre 30 Ddodren. 45 Doy’
odrey 5o Jocor™ 6D & T8I ws Doy C. 20 Iars’ ard
dabdods. 2urdodd 836 10 e Jrtw 36D, up C D J2arddD
S8 Decobed i ddvabe (AdoTrg”).

(1) 17 (2) 25 (3) 152 @) 27

3 3

Options:

1. %1

o ® 2

3 %3

4 ¥ 4

Question Number : 97 Question Id : 9126062960 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

enasricda 5":’-"'.%,5'3

Two pipes A and B can fill a tank in 24 munutes and 30 munutes respectively.
Both pipes are opened simultaneously but after 5 minutes A 1s turned off. After

how much more time will the tank be filled?

Bot Dinen A, B eo EE}S:} HERMT 24 ddoaren . 30 oares” Dodried).
2,88 BODD &5 Bodotded B D 5 Do adoorsd 2orhHDhHo. e dod

Hanaboes F& Docrody?
(1) 15 mns (2) 18 mins (3) 21 mns (4) 24 mins

153 182 21Q 243

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 98 Question Id : 9126062961 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability
oSl :}mgﬁa

A cyclist travelling at 30 kmph takes 3 hrs more to cover distance between two
cities A and B than another cyvchst travelling at 40 kmph, What 1s the distance
between A and BY

Joco Sforen A, B © o6y ciJ“D“.?ZJJ_ 2rHcEES ok 40 4. M. Stiodd

DOIFEIROMY) 28 DD SRDD ddvabo €Y o 30 8. o, Drfod

Roireu) wB'S HEn SRDHD ddnabe 3 doben D, A, B o 2d)
GFGo Joch?

(1) 360 km (2) 350 km (3) 320 km {(4) 300 km

360 4.80. 3150 &.20. 320 &.20. 300 .50,

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 99 Question Id : 9126062962 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

esoSricied an:ugﬁe

The distance between two cifies 1s 30 km. If two persons A and B travel in the
opposite directions starting from the two cities. they meet after 2 hours. If they
start from the same city and travel in same direction they meet after 3 hows. If
A 1s faster than B the speed of A is

Soch diore Sy drde 30 4.20. BB Syen A, B & Soch ddorw duod
S(O0E B3S” L0DeNBO Tocd fobw SRT'S SLLREDD. FGAr w8 S(ito
Sood wahendd a8 %65 Hairdiiucd Surd) dote BT Seus’ DB,

B 577 A Sffe J5) 08 A Srie

(1) 10 kmph (2) 12% kmph
fobyed 10 4.5, Aot 12- 8.8,
(3) 15 kinph (4) 153 kmph
Hobsdy 15 & .50, Mok 1:5% a5,
Options:
1. %1
2 WD
3. ¥ 3
4 # 4

Question Number : 100 Question Id : 9126062963 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

00 S eI &mgﬁ‘a

Of the two workers A works twice as fast as B. If A and B work together they
require 12 davs to complete a piece of work. How many davs are needed 1f A

alone works to complete the same work.

B €3y A Boch Bt Do HI Sobdwds. A. B 83dr ¢Bb 28 5ID 38
Bodocras 12 Geren DOd0S. @38 DN A 28], & Qrédedrudy .':Lf:l&

Baren HEdr08?

(1) 15 (2) 16 (3) 18 (4) 20

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 101 Question Id : 9126062964 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evogrichd E)»:pgﬁa

A, B and C can independently complete a work in 10, 15 and 20 days
respectively. If they start the work together and A leaves after 2 days and B

leaves after 4 days the number of davs requured for the completion of work 18

A. B, C o D Sodorr 8 DA e 10, 15. 20 Sereds” Qrocdaiiocsd.
Sootdo &2 5D FrboDoddd Sord 1 faro A dobaiw 4 By B O
Aol PELABLOS & HID PréSaierdS BE Bere Lowy

3 M 192 = -
(1) 13-11 (2) i_j (3) 113 (4) IDE

Options:
1. %1
2 %
3 %3
4 ¥ 4

Question Number : 102 Question Id : 9126062965 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eoo S &mgﬁa

An equilateral tnangle is inscribed in a circle of 462 sq.cms. The perimeter (in

cms) of the mangle is

462 &.%0.0. Prup du Hdol’ wE DT SEoes woddDodenddd.
Q0L & Gzioaso woknS'we (He.do.wes’)

(1) 72 (2) 84 (3) 63 (4) 126

Options:
1. %1
2 ® 2
TS ICET 2018
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3¢ 3
4 % 4

Question Number : 103 Question 1d : 9126062966 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

00D ﬂbmgﬁa

The penimeter of rhombus 15 68 meters and one of 1ts diagonals 1s 16 meters,

The area of the rhombus 15 (10 $q.ms.)

2.8 DIOSEBI) SRDE LS 68 Dobsdd JoBekn ord clog), 2.8 Dddo Jaty

16 Qo.e0 wod e RBBEBY DT OG0 (65, Do, wes’)
(1) 220 (2) 240 (3) 280 (4) 3200

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 104 Question Id : 9126062967 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

evosSricho &mgﬁa

Three solid metal cubes whose sides are 1 the ratio 3:4:5 are melted and made

into a single cube. If length of the diagonal of this single cube is 48+/3 meters

then the side of the smallest of the three cubes 157

3:4:5 Diy96° wowio £ 20rees TH ) DTrUA S8R0 DSEo0D
w66 oY) GoIrOBIW. ¢ B Dedo Tap 48v3 D.ew
£9000RIYE DG Barcd TS’ D) GaNH DALY wokd

(1) 24 m (2) 22 m (3) 20 m (4) 18 m

24 &, 22 b, 20 5. 18 5.

Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 105 Question Id ; 9126062968 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Arithmetical Ability

esoSricied &mg&a

A sohd cyvlinder of diameter 24 ¢ and height 10 cm 18 melted and cost mto
spheres of diameter 12 cm each. What will be the number of selid spheres

made

24 0.8, Trgo, 10 Do.f. Ao o Dod R&:ﬂ&ﬁl $8A0D 2,878 12 Do.b.

TR e Hvrenm Saird dhdbowd. DoE R Doy
(1) 5 (2) 6 (3) 7 (4) 8
Options:

1.v1

2 ®2

3 %3
4 % 4

Question Number : 106 Question Id : 9126062969 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esoSiched avmgﬁa

The base and height of a triangle are m the ratio 4:3 and its area 1s 54 sq. em.
What is its height?
4:3 JAS° Frd ddovdo €03 JFouly prroje 51 B.20.b. wond e

DZoRLY) B0 dodd?

(1) 9 cm (2) 6cm (3) 8cm (4) 7ecm
9 36,2, 6 Do.o. 8§ 0.8 7 m0.5.
Options:
1.v1
2 ® 2
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3. % 3
4 % 4

Question Number : 107 Question Id : 9126062970 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esoSreid &mgﬁa

Area of the thombus whose diagonals are 36 ¢ and 20¢m
Jsgre Tdpen 36 Do.aD.. 20 Do.db. w> $HHE vIBGRD DTV
(1) 480 sq cm (2) 360 sq cmi (3) 200 sq cm (4) 320 sq cm

430 &.20. 5. 360 &.230.00. 200 S.20.50. 320 &.me.00.

Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 108 Question Id : 9126062971 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

eodrcdo anmgﬁa

What 1s the cost of fencing around a circular field of diameter 28 meters at the

rate of Rs. 10 per meter?

28 Dobig TRorm 6 P EEde Mol Sod SaLErE w8 Dbt ar.
10 Sy® @o'..":{} 0oy woch?

(1) ¥ 880 (2) <440 (3) T 660 (4) T 550

Options:
1.v1
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o oo
3 %3
4 % 4

Question Number : 109 Question Id : 9126062972 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

esosricded an:.ugﬁa

If11011,+11101,+1111,+1001,= X, then X=

110115+1 11015711 11,+1001= X;p wowd X=

(1) 80 (2) 120 (3) 124 (4) 132

Options:
1.v1

o ® oo
T %3
4 % 4

Question Number : 110 Question Id : 9126062973 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Arithmetical Ability

008 aumgéa

If Kk, k4 are natmral numbers such that

(i) 2% )10 but 2¥i* } 10! and (i) 5%2|10! but 5¥2%1 } 10! then

(1) 2FL|10!1sed 2%+l ;10! Sobod (11) 5%2|10! 5= 5k2+1 4 101 eaciiog Desorr
@ol Mara SEEMCIY Ky ko e IO ED

(1) k; = ks (2) ky < k; (3) ky > k> (4) ky = ks + 3

Options:
1. %1
o ® oo
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3¢ 3
4 % 4

Question Number : 111 Question Id : 9126062974 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dol wﬁgﬁ:bu‘i‘: &-mgﬁa

The contra positive of the statement:
“Ifina AABC, AB=ACthen LB=LC"1s

208 DIBTAE HASOIIL

AABCe5" AB = ACe9a® LB = LC" 1s

(1) Ifina AABC, LB # LC then AB # AC
AABC &° LB # LCeawead AB + AC
(2) IfinaAABC, AB # ACthen LB # LC

AABC &5° AB + AC®ond LB # LC
(3) IfinaAABC, LB = LCthen AB = AC

AABC &5° LB = LC eawéd AB = AC
(4) IfmmaAABC, LB = LC then AB = AC

AABC &5° LB # LC eoxé AB = AC
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Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 112 Question Id : 9126062975 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

AL Tou b aﬂméum &mg{’a

Which of the following is equivalent to the statement p V [~ (g A~ 1)]

& o8 TréheS” DIGD0 PV [~ (g A~ 1)] S douivanss

(1) [pV(~q)]lVvr (2) [pAg)IV~T

(3) [pA(~q)]V(~T) (4) [pvag]v(~T)

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 113 Question Id : 9126062976 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Doy wﬂgﬂaéuﬁ .a-a:ugﬁa

1 L
IfI, = {xER=——{A’{—}forn=l,2.3.,....-.-rllen
n T
o
e-
n=1]
L |
0=1.2.3, ... 081, = [x ER:-tcx< _} escond
b r !

-

(1) {0} (2) @ (3) {1} (4) [xeER:0<x < 1}

Options:
1.v1

o ® oo
3 ® 3
4 # 4

Question Number : 114 Question Id : 9126062977 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Doy, wﬂgﬂaéuﬂa ih:ngﬁa

. _ X f{a) _
Iff(x) = o then proen

— i._ o _'r.l'('_ﬂ_.'._:
f{x) = = 90PN ey

-

{7 i ~ Jf;l:‘l|
(2) a®+1

(3) fla?) (4) f(a?)

(1)

at—1

Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 115 Question Id ;: 9126062978 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

D& o, wgﬂaéaﬂa &m%a

f(x)= x%—|x| is

flx) = x* - |x| »38

(1) An even function (2) An odd function
258 28 Hdovobo w8 & Hdoobe
(3) Nota function (4) Neither even nor odd function
P bloublo -l 70 Haooe STta M pDaociie SUED
Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 116 Question Id : 9126062979 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Ddab. j@bdam &m%@

41. The equation of the straight line having mtercepts a and b on the axes such
that a+b= 5 and ab=6 is
a. b e Jorde exroup wodtmonren W6 aTh= 3 ooty ab=6 rr

Ao SEvBar Hddmo

(1) 2x -3y =6 (2) 2x+3y=6Gor3x+2y=6
(3) 3Ix—2y=46 (4) 2y —3x =6

Options:

1. %1

2 vz

3 %3

4 % 4

Question Number : 117 Question Id : 9126062980 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, aﬁ"gﬁwﬁuﬁ ?n:ugﬁa

The equation of the straight line passing through (4. 2) and parallel to the line
x+2y—5=0is
Docoan (4. 2) oo V' x4+ 2y — 5= 0 003 32 £ Daroddornr coll

Hevdar Hindsamo

(1) 2x4+y=8 2) x+2y=6
(3) x+2y=28 (4) 2Zx+y =6
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Options:
1. % 1
o %D
3. ¥ 3
4 % 4

Question Number : 118 Question Id : 9126062981 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

e, wﬂgﬂ:@o&o &mgﬁa

cos1? . cos29. ... ... 081799 =

= ? 1) -
1) = (2) 0 (3) 1 (4) 3

Options:
1. %1
o vz
3 %3
4 % 4

Question Number : 119 Question Id : 9126062982 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dol zﬂb:.éu:b F.h:ugé—a

sin420°% cos390° + cos(—300%) sin(330%) =

(1) 0 (2) -1 (3 1 (4) ”3;1
Options:
1. %1
2 ® D
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Question Number : 120 Question Id : 9126062983 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do wﬁﬂﬁécﬁ: bvmgéa

cos 8 l+sin &
1+=in &8 cos 8

(1) 2cosec8 (2) 2cosec’d (3) 2secd (4) 2sec’8

Options:
1. %1
2 %
3. v 3
4 # 4

Question Number : 121 Question Id : 9126062984 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Ddon. srgoded FDgS

A person walking towards the foor of the mountain observes the angle of

elevation of its peak to the 30" and 60° respectively. If the distance between

two points A, B of observation is v3 km then the height of the mountain in
mefers 1s

28 DO S0 DI REOARD) (S ot Dodapenr A.B e Aod) &5 DO
2003 &g Eemotd 30°, 60" e AzuDoerc. Docuapen A. B © 2oy ardo

V3 4.5 wonadinc Doty ddo Dowges’.

(1) 2500 (2) 2000 (3) 1500 (4y 1250
Options:
1. %1
> & 2
3. ¥ 3
4 % 4

Question Number : 122 Question Id : 9126062985 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE o, aﬂmboﬁ: &-m%a

1 |
x+-=5 = xt4+—=
X x

(1) 527 (2) 623 (3) 625 (4) 572

Options:
1.¥1

o ® oo
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3. % 3
4 % 4

Question Number : 123 Question 1d : 9126062986 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddaty, aﬂmém Eivmgﬁ-:t

For two polynomuals p(x) and g(x) the hughest common factor 1s (x — 2) and
the least common multiple is x> —9x* +26x—24. If p(x) = x° —6x+ 8

then g(x) =

23 eroddoew p(x). glx) o (833 &a:ﬂ-a‘:-‘g_ rago (x —2) Subokn €0
Fardg docdao x¥ — 9x° + 26x — 24. p(x) = x* — 6x + B wand q(x) =

(1) x*4+5x+6 (2) x* —5x—6

(3) x*-5x+6 (4) x> —2x +3
Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 124 Question Id : 9126062987 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do wign:éu.ﬁ .a-a:ugﬁa

If the polynonual x® + 10x® + ax + b 15 exactly divisible by (x — 1) and
(x+2)thena-b=

x4 10x% 4 ax + b o3 ooodd (x— 1) 28cmo (x + 2) od ke
erfonead a—-b=
(1) 9 (2) -9 (3) -25 (4) 25

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 125 Question Id : 9126062988 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

TS ICET 2018



TS ICET 2018

Algebraic and Geometrical Ability

Db odd. aﬁ'iga'_‘l::éu:b &mgﬁa

If a polynonual p(x) leaves remainders 6 and 4 respectively when divided by
(x —2) and (x—3) then the remainders when p(x) 15 dmvided by
(x* —5x +6) will be

a8 2IuDG p(x) & (x—2) boiw (x —3) 0d rhoddi, D 8d
SAsdrr 6 Auboiw 4 oo #horr DAbed. pl(x) & (x2-5x+6) &
erReddip e Sy #0

(1)2x+ 6 (2) —2x—10 (3) —2x+ 10 (4) 2x+ 10

Options:
1. %1
o R
3. v 3
4. # 4

Question Number : 126 Question Id : 9126062989 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Do w5ﬂ:éo53 .a-a:ugé—a

The sum of a two digit number and the number obtained by reversing the order

of 1ts digits 15 121 and the digats differ by 3. The largest of such numbers 1s

2.€ Botose Boa)y . DG woBwRy Sdrdaibrr 53y Dowfjer doodo 121

©od=s & Do D woSu Hoo 3. wered Pow(S” VA DOG

(1) 47 (2) 74 (3) 63 (4) 52

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 127 Question Id : 9126062990 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

FAL Yool av3aaéoja AeG &S

a8
3 2 a 4
If—+ =2and—— =1thenx:y=
x+y x—¥y x+y x—y
42 = 2 38a 9—4=1Ecmﬁ.r:y=
x+y x—y x+y xX—y
(1) 3:2 (2) 2:5 (3) 3:1 (4) 9:4
Options:
1. %1
2 ® 2
2. ¢¥3
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4 % 4

Question Number : 128 Question Id : 9126062991 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddat. aﬁ:gméu:b avmgéa

The ™ term  of an arithmetic progression whose sum of first n terms is
2n+ 3n’is

20066 1 Do 2ndo 2n + 3n’ a0l wE WosBES D 1 D Do

(1) Tr=1 (2) 6r+3 (3) 61-1 (4) Tr+5

Options:
1. %1
o ® oo
=¥z
4 % 4

Question Number : 129 Question Id : 9126062992 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Daon, bdab Fga

= . % 3 .
If the 6™ and 13™ terms of a geometric progression are 24 and = respectively.
i i :
then its 257 term 1s

3
w8 HRIGS'D 6 D Do, 13 5 Do SR 24 Wwdaio — wowd 25 D
2CH0

(1)3x 2 (2) 3x27% (3) 3x2# (4) 3x22

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 130 Question Id : 9126062993 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Do, arghoded FD8S

The coefficient of x™* in the product (x + 1)(x + 2)(x + 3) ....(x + n) is

oo (x + 1)(x +2)(x + 3) ... (x + n) & x"! domeo

nin+l) - —=nin+1) n{n-1) o —n{n=1})
)= (2) —— (3) = )
Options:
1.v1
o ® oo
3 %3
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4 % 4

Question Number : 131 Question Id : 9126062994 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

DE ok, wigns-z‘.aoi: &mgéa

R |
. v ' . L]
If the coefficients of x” and x® are equal in the expansion of (3 + 5) then

n =

(3 - %) Dpoeds” x7. x7 oL DATIZS WPy N =

(1) 42 (2) 48 (3) 535 (4) 58

Options:
1. %1
o %o
3 ¥ 3
4 % 4

Question Number : 132 Question Id : 9126062995 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Déan, s &mgﬁa

2
If L___ﬂ3 Bﬂ] - [—28 3] where a. b, ¢ are real numbers of which b<0 then
3a+b+c=

a. b, ¢c e 03 Poayjen . Tde5* b<( wHHor [; '!:::] = LZH E] esq0d

Ja+ b4c=

(1) 0 (2) 1 (3) -1 (4) 2

Options:
1. %1
oD
3 %z
4 % 4

Question Number : 133 Question Id : 9126062996 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dot aavig,aaém: &mgﬁa

If A and B are matrices such that AB=B and BA= A_then A>B*=

A.B @3 ardgen AB= B. BA= A ssclogbnrr @otd ey A+B=

(1) 2AB (2) 2BA (3) ATB (4) AB

Options:
1. %1
o ® oo
3.3
4 % 4
TS ICET 2018
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Question Number : 134 Question Id ; 9126062997 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dol a?‘gbaéu:io &mg{:@

'l -jl"l_‘{_ﬂ
1My e o
M=% 3n45n

(1)1 (2) 2 (3) -1 i4) -2

Options:
1. %1
2 %
3. v 3
4 % 4

Question Number : 135 Question Id : 9126062998 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dol a“ghaécm Snmg{:a

i (14n)"+24m) "+ (7 m)?
b o A =
i 1000+n7

(1) 0 (2) 1 (3) 7 (4) ©O

Options:
1. %1
o %oz
3. ¥ 3
4 % 4
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Question Number : 136 Question Id : 9126062999 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Ddaiy, ashﬁﬂ:pém: .ﬁ'ﬂmgaa

As given in the diagram. in AABC, 2B > 90% and AD is perpendicular to BC.

Then b’=
A

b

et
.

D X 5 a e
Ddroes” wﬂg.ﬂ-g: AABC &5° 2B > 90%, AD 38 BC & wowo. w‘.';_j_-}:‘_*r bi=

(1) a?+c?—2ax (2) a® + c? + 2ax

(3) a®+c*+ax (4) a® + ¢ —ax
Options:
1. %1
2 2
3 % 3
4 % 4

Question Number : 137 Question Id : 9126063000 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Dot aﬁ'igﬁ:bcm &-mgﬁa

If the angles of a quadnlateral are i the ratio 3:4:5:6 then the smallest of these
angles 1s

w8 Badodna Swren 3:4:5:6 i 9d° ol " 0l DAy Eno

(1) 30" (2) 90" (3) 60" (4) 43"

Options:
1. %1
o ® oo
3.3
4 % 4

Question Number : 138 Question Id : 9126063001 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Dot wﬂgﬂaéq‘b avmgéa

If a chord of a circle of radius 10cm subtends an angle 60° at the center of the

circle, then the length of the chord (1n centimeters) is

10 Do.2b. TAgo e 8 D85 F(B38 Sogo 5 60" E'so BRwots & a5y

T (Ho.2v. o)

(1) 10 (2) 10v3 B = (4) 5

Options:
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1.¥1
o ® oo
3 ® 3
4 # 4

Question Number : 139 Question Id : 9126063002 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Algebraic and Geometrical Ability

Doy wign:éu:i: av::gﬁa

A pomt (x,y) 1s equicistant from the points (7, 1) and (3, 5). Then x — y =

Docoanen (7, 1), (3, 3) vdred Lardadrdos’ ws Docody  (x,¥) cod.

WDNR X — Y =
(1) 5 (2) 4 (3) 3 (4) 2

Options:
1. %1
o %oz
3 %3
4. v 4

Question Number : 140 Question Id : 9126063003 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Algebraic and Geometrical Ability

Dok wign:éoi-a &mgﬁa

The verfices of AABC are A(4, 2). B(6. 5) and C(1. 4). The median through A

meets BC at D. Then AD™=
AABC & Jgren A(4, 2). B(6. 5). C(1, 4). A oo D'adugyid 8 BC I D

3¢ geninod. eip e AD=

(1) 13 (2) ? (3) 17 (4) g

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 141 Question Id : 9126063004 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&nm55r§ e gaa

The arithmetic mean of 287. 292, 297. 302, ...... 447 is

287,292, 297, 302, ... M7 v esos0diso0

(1) 367 (2) 362 (3) 372 (4) 37

Options:
1.¥1

o B oo
3 ® 3
4 % 4
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Question Number : 142 Question Id : 9126063005 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&nmﬁsﬂ'ﬁg 0 gée:s

If the mean and mode of a data are 58 and 32 respectively. Then the median of

the data 15

€ GEroTS oGS0, FTFUYEe SORMT 58, 51 wand. ¢ Sgrod uG(ido
(1) 53 (2) 54 (3) 55 (4) 56

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 143 Question Id : 9126063006 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&-na}ﬁsv@ A0 gée:s

The modeof 124. 142, 86. 136. 126. 124, 98, 114 1s

124, 142, 86. 136. 126. 124. 98, 114 o erSovEo

(1) 124 (2) 86 (3) 142 (4) 126

Options:
1.91

o oo
o ® 3
4 % 4

Question Number : 144 Question Id : 9126063007 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

Elﬂnméﬁrg ::\m%a

The standard deviation of any five consecutive positive integers is

D3 DA IOD GJ YPrgrosL Srareds oo

(1) V2.5 (2) V2 (3) V5 (4) 2

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 145 Question Id : 9126063008 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
FoaETR JIG S

@

The standard deviation of n observations x;,x,, ... ... ... X, 15 15. Then the
standard deviation of the observations 5x; — 11,5x, — 11, ... ... ..., 5x, — 11 1s
1 DOFVBLD Xy, Xy, ..o voe .o, Xy © DeATEIS DeSOD0 15, 89260 DOILID
5x; — 11,5x, — 11, ... ... ..., 5xp, — 11 © @raoreds Do

(1) 64 (2) 75 (3) B (4) 130

Options:

1. % 1

e e

3 %3

4 % 4

Question Number : 146 Question Id : 9126063009 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

&nm55r§ Fea gaa

Two sports persons P and Q have participated in four competitions and their
respective ranks are as give in the table below. The rank correlation coefficient
15

P, Q 3 addd esborrely, Traord T ederes” "B T8 Toen Socs BN

DHeS” aomyaw. WPy §S Droees rrso

I IT 1T IV
3 4 1 3
P:
2 5 4 3
Q:
= A 2 2 .
(1) = (2) = (3) 5 (4) -
Options:
1. %1
o ® 2
3. % 3
4. 9 4

Question Number : 147 Question Id : 9126063010 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

&na}ﬁsmg A0 9,5*3

A bag comtains 3 white, 2 black and 4 red balls. Three balls are drawn 1m
succession without replacement. The probability that of the three balls drawn
one is white, one is black and one is red, is

28 Redd” 3 3ud. 2 Jud. 4 ¢ wodvenTyow. TS e 18 ol Soga
S G, SH3 00dd Moder Sobdiorr |, Sarch eodoen SFedd. &

G podowel w88 08, w88 Jdud, WS J48 esciyy oy

1 1 1 1
(1) 51 (2) P (3) e (4) =y

Options:
1.v1
o ® oo
3 %3
4 % 4

Question Number : 148 Question Id : 9126063011 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Statistical Ability

&nmﬁsw? Feso 9,5‘3

Two unbiased six faced dice are rolled. The probability of getting a sum which

1% a prume number is

Bocd Jary 8 i A0ery OISV Sorrtd. TEDP SA\D Doy Jwdo
28 DO a’:nm& Eaﬁ:-_ﬁ a’:na;“.'.‘aﬁé

i - 7 i1
2.3 By (2) (3) = Gl

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 149 Question Id : 9126063012 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability

&nmﬁswg A0 25‘3

When 4 un-biased coins are tossed, the probability of getting ar least 2 heads 13

4 Diry 4 Trrmoto 6 D €00 2 B0 0 HFy DogTog

11 o 3y 1 2
(1) = (2) (3) - (4) A

Options:
1.¥1

o ® oo
T %3
4 % 4
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Question Number : 150 Question Id : 9126063013 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Statistical Ability
&nmﬁswg &mgﬁa

If a four digit number is formed at random using the digits 2. 5. 7. 8. 9 then the

probability that the sum of the digits i that number i1s a multiple of 2 1s

woSen 1, 5, 7. 8. 9 wn asDairfnoe ﬂrmﬁﬂagw 28 4 wosSw DoAY

D483 IS"D wosw Awde 2 oy, rrdedoaly VoSS

2 ;
(1) = (2)

Options:

1. %1

e g

3 % 3

4 % 4

3 o 3 7
= (3) W (4) o

Display Number Panel: Yes
Group All Questions: No

Question Number : 151 Question Id : 9126063014 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Choose the correct meaning of the word given:
Pumnitive
(1) acquitting
(2) vengeful
(3) very small

(4) intended as punishment

Options:
TS ICET 2018
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1. %1
o ® oo
3 ® 3
4 ¥ 4

Question Number : 152 Question 1d : 9126063015 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Morale

(1) confidence
(2) dread

(3) morals

(4) purpose

Options:
1.v1
o %D
3 %3
4 % 4

Question Number : 153 Question Id : 9126063016 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Repertoire

(1) répentance
(2) inventory
(3 ) muination

(4) syinposiiin
Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 154 Question 1d : 9126063017 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct meaning of the word given:

Apariheid

(1) segregation
(2) aggregation
(3) integration

{4) immigration

Options:
1.¥1

o ® oo
3 %3
4 # 4

Question Number : 155 Question 1d : 9126063018 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct meaning of the word given:

Foment

(1) cement
(2) instigate
(3) mvestigate

(4) profligate

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 156 Question Id : 9126063019 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct meaning of the word given:

Heckle

(1) abuse
(2) praise
(3) extreme
(4) sohd

Options:
1.1
o %oz
3 %3
4 % 4

Question Number : 157 Question Id : 9126063020 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill im the blank choosing the correct word:

Fill in the blank choosing the correct word:

The Prime NMimster the members of lus Cabinet to improve
the governance of the country,

(1) abandoned
(2) reshuffled
(3) scolded
(4) admired

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 158 Question Id : 9126063021 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blank choosing the correct word:

Mentorious candidates should not be from enterg politucs due
to lack of financial resources.

(1) included
(2) excluded
(3) agitated

(4) puinshed

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 159 Question Id : 9126063022 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blank choosing the correct word:

Ti 15 unlawful to upon the copynghis of another person.

(1) mntmde
(2) ifringe
(3) take
(4) tread

Options:
1. %1
e g
3 % 3
4. # 4

Question Number : 160 Question Id : 9126063023 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blank choosing the correct word:

The eagle down to catch 1ts prey.

(1) swooped
(2) chimbed
(3) walked
(4) turned

Options:
1.1
o %o
3 %3
4 % 4

Question Number : 161 Question Id : 9126063024 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Choose the correct answenr:

A piece of code or data created by web server and stored on a user's
computer 1s called

(1) cookie
(2) byte
(3) confent
(4) browser

Options:
1.¥1

o B oo
3 %3
4 # 4

Question Number : 162 Question Id : 9126063025 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

A type of e-mail frand in which the perpetrator sends out e-mails that
appear to come from a legitimate service or company 1s known as

(1) malware
(2) gateway
(3) device driver
(4) phishing

Options:
1. %1
2 %
3 % 3
4 ¥ 4

Question Number : 163 Question Id : 9126063026 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A computer memory with very short access time used for storage of
recently used data is called

(1) browser
(2) processor
(3) cache
(4) 85D
Options:
1. %1
o %2
3 v 3
4 % 4

Question Number : 164 Question Id : 9126063027 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

The unwanted software that can track one’s activities on the computer 1s

called

(1) spy bug
(2) spy vims
(3) spy spot
(4) spyware

Options:

1. %1

2 ® D

3. ¥ 3

4 ¥ 4

Question Number : 165 Question Id : 9126063028 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

Boolean Algebra finds 1ts application in computer because

(1} it 1s easier than conventional algebra
(2) computers are programmed for 1f
(3) digatal curcuats are ON-OFF devices
(4) it 1s a sophisticated branch of algebra
Options:
1. %1
2 ® 2
3. ¥ 3
4 % 4

Question Number : 166 Question Id : 9126063029 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answer:

“No smoking in the factory” 1s an example of

(1) policy

(2) procedure
(3) strategy
(4) rule

Options:
1. %1
o %D
3 %z
4. 9 4

Question Number : 167 Question Id : 9126063030 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

What is the title of the person who heads Reserve Bank of India?

(1) Chairman

(2) Chairman and Managing Director
(3) Governor

(4) Chancellor

Options:
1. %1
o %oz
3. ¥ 3
4 % 4

Question Number : 168 Question Id : 9126063031 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

A short official statement of news 1s called

(1) Notice
(2) bulletin
{3) memoir
(4) nunute

TS ICET 2018
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Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 169 Question Id : 9126063032 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:

The number assigned to every GST registered dealer 1s called

(1) GST NI
(2) GST IN
(3) INGST
(4) NIGST

Options:

1. %1

o WD

3 %3

4 % 4

Question Number : 170 Question Id : 9126063033 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answer:
CPM stands for

(1) Critical Path Method
(2) Critical Policy Method
(3) Composite Path Method
(4) Complex Path Method

Options:

1.¥1

2 ® 3

3 %3

4 % 4

Question Number : 171 Question Id : 9126063034 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answen:

Choose the correct answer:

A: "He gave them elaborate mstructions to carry out themr project.”
B: “His advice fell on the deaf ears.”

‘B’ means

(1) they failed to hear because they were deaf

(2) they followed lns advice scrupulously

(3) they followed his advice. but were unsuccessiul
(4) they did not bother about lus instrucnons

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 172 Question Id : 9126063035 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answen:

Change the active form of the following sentence to passive:
“We had baked the bread.”

(1) The bread 1is baked by us

(2) The bread has been baked by us
(3) The bread was baked by us

(4) The bread had been baked by us

Options:
1. % 1
o %D
3 %3
4. v 4
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Question Number : 173 Question Id : 9126063036 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answen:

A: “Are you appearing for ICET this vear?’
B: ‘Ithink I will have a go at it.”
‘B’ means that he intends to:

(1) skip 1t
(2) appear for it
(3) take 1t casually
(4) decide on 1t later
Options:
1. % 1
e e
3 %3
4 % 4

Question Number : 174 Question Id : 9126063037 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answen:

A: "How is your partnership with Ravi going.”
B: “Sorry. we fell out.”
‘BT umplies that

(1) they quarrelled
(2) they went broke
(3) they had met with an accident
(4) their plan failed
Options:
1.9 1
o %D
3 %3
4. # 4

Question Number : 175 Question Id : 9126063038 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answen:

A: “Iwish I had worked harder, I would have done better at the
interview.”

B: “Well vou could try agamn.™

"B implies that *A°

(1) should not crv over split milk

(2) should strike while the iron 15 hot

(3) should make a hay while the sun slunes
(4) should not be a stick in the mud

Options:
1.v1

o ® oo
o ® 3
4 % 4

Question Number : 176 Question Id : 9126063039 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the correct answen:

A: “Can I try it on?”
B: “Sure, the changimg rooms are over there.”
The conversation taken place in a

(1) footwear shop
(2) hotel

(3) hospital

(4) garment shop

Options:
1. %1
o %2
3 %3
4 ¥ 4

Question Number : 177 Question Id : 9126063040 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Choose the correct answen:

A: “Why did vou leave the company?™
B: “Only the wearer of shoe knows where it pinches.”
"B means that

(1) the shoes given by the company were bad.
(2) the company 1s good but "A” doesn’t know it.
(3) only an insider knows the difficulties
(4) the msiders know how to make good shoes.
Options:
1. %1
2 ® 3
3. v 3
4 % 4
Question Number : 178 Question Id : 9126063041 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Fill in the blanks with the appropriate phrase / verb / preposition:

He delights doing good.

(1) through

(2) in
(3)at
(4) over

Options:

1. %1

2 2

3 ¥ 3

4 % 4

Question Number : 179 Question Id : 9126063042 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:
He prevailed _ s musfortunes by not losing hope.

(1) on
(2) mnto
(3) with
(4) over
Options:
1. %1
2 ® 2
= %3
4. v 4
Question Number : 180 Question Id : 9126063043 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

They decided to have an mformed and brief discussion a cup of

coffee.

(1) on
(2) over
(3) by
() ta

Options:
1. %1
e g
3 %3
4 % 4

Question Number : 181 Question Id : 9126063044 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:

If teachers show favouritism, it can resentment,

(1) provide
(2) breed
(3) wreak
(4) hamper

Options:

1. %1

o D

3 %3

4 % 4

Question Number : 182 Question Id : 9126063045 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

Many species of birds have become in the last hundred vears.

(1) obsolescent
(2) obscure
(3) extinct
(4) feeble
Options:
1. %1
o oo
3. v 3
4 % 4

Question Number : 183 Question 1d : 9126063046 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:

Yom should not when I am talking to the other man.

(1) cut out
(2) cutin
(3)cutup
(4) cut above

Options:

1. %1

oD

3 %z

4 % 4

Question Number : 184 Question Id : 9126063047 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Fill in the blanks with the appropriate phrase / verb / preposition:

However will we without vou?

(1) getover
(2) get at
(3) geton
(4) get off

Options:
1. %1
o %D
=¥z
4 % 4

Question Number : 185 Question Id : 9126063048 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Fill in the blanks with the appropriate phrase / verb / preposition:

The whole project dropped _ _because of the lack of finance,

(1) through
(2) across
(3)in
(4) away
Options:
1.91
o %2
3 % 3
4 % 4

Question Id : 9126063049 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (186 to 190)
Cuesticon Label | Comprehiension
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Read the following passage and answer gquestions 36-40:

What 15 freedom? Freedom 15 the right to choose; the nght to create for
oneself the alternatives of choice. Without the possibility of choice and exercise
of choice. we are not human beings but only manimate objects. Fortunately. we
are now living in a world full of choice; even in the selection of ice-cream or
soaps. there 15 so mmuch cheice that we find 1t difficult to choose and some
people feel that we actually suffer from what may be called choice fatigue!

Thanks to the wemendous growth and diversification m all spheres of hife.
the educatonal spectrum 15 crowded with a variety of courses 1 every
conceivable field: most of the courses offered are practical and job-oriented and
as a result, there is an array of career options available. Students are becoming
smarter and they are learning to take mitelligent decisions based on what 1s right
for them. A good way to choose one’s career path 1s to match one’s strengths
and aptitudes to the opportunities and threats in the job market of tomorrow.
There are career gmdance cells and centres 1 most colleges and universities
from where one can get detailed information on career options.

Sub questions

Question Number : 186 Question Id : 9126063050 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Whyv 1s the right to choose mmportant?

(1) without it we become soulless
(2) 1t helps us to be happy

(3) 1t enables us to be successful
(4) 1t prevents conflict

Options:
1.91

> w2
3 ® 3
4. # 4

Question Number : 187 Question Id : 9126063051 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What 15 ‘choice fatigue’?

(1) choices are indispensable
(2) choices are inevitable
(3) there are too many options to choose from
(4) a feeling of tiredness after making a choice
Options:
1. %1
2 ® 3
3. ¥ 3
4 % 4

Question Number : 188 Question Id : 9126063052 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Why is there an ‘array of career options” available?

(1) due to technological advances
(2) due to business opportumnities
(3) due to skilled labour
(4) due to the availability of practical and job ortented courses
Options:
1. %1
2 %z
3. %3
4 ¥ 4
Question Number : 189 Question Id : 9126063053 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

How does one choose a “good career path'?

(1) by reading newspapers
(2) by assessmg one’s own strengths and aptitudes
(3) by becoming smarter
(4) by looking at the job market
Options:
1. %1
o o
3z %3
4 % 4
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Question Number : 190 Question Id : 9126063054 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where can one get information on career options?

(1) from teachers

(2) from parents

(3) from career guidance cenires
(4) from classmates

Options:
1. % 1
o %D
3. v 3
4 % 4

Question Id : 9126063055 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)
Cuesticon Label | Comprehension
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Read the following passage and answer questions 41-45:

Private victory precedes public victory. Self-mastery and self-discipline
are the foundations of good relationships with others. Some people say that you
have 1o like vourself before you can like others. I think that idea has merit, but

if you don’t know vourself, if vou don’t control yowrself. if vou don’t have
mastery over vourself. it 1s very hard to like vourself.

Independence is an achievement. Interdependence is a choice only
independent people can make. Unless we are willing to achieve real
independence. 1t is foolish fo try to develop mman relations skills.

The most important ingredient we put mto any relationship 1s not what we
say or what we do. but what we are. And if our words and our actions come
from superficial human relations rather than from ewn inner core. others will
semse that duplicity. We simply won't be able to create and sustan the
foundation necessary for effective mterdependence.

So the place 1o begn building anv relationship 15 mside s, nside our own
character. As we become mdependent — proactive. centred m correct principles
— we then can choose fo become imterdependent capable of building nch,
enduring, lughly productive relationships with other people.

Sub questions

Question Number : 191 Question Id : 9126063056 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 1s the most important ingredient we put into a relationship?

(1) words
(2) character
(3) actions
(4) Public victory
Options:
1. %1
o D
3 %3
4 % 4

Question Number : 192 Question Id : 9126063057 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What according to the author 1s ‘self independence’?

(1) achoice
(2) an aclmevement
(3) asocial necessity
(4) a duplicity
Options:
1. %1
o VD
z %3z
4 # 4

Question Number : 193 Question Id ;: 9126063058 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What 15 the night place to biuuld a relationship?

(1) society
(2) mside ourselves
(3) office
(4) outside ourselves
Options:
1. %1
2 VD
3 %3
4 % 4

Question Number : 194 Question Id : 9126063059 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

When do you like yourself?

(1) When vou have mastery over yourself
(2) When vou don’t control yvourself
(3) When you don’t know yourself
(4) When vou have human skills
Options:
1.v1
o ® 2
3 % 3
4 % 4

TS ICET 2018



TS ICET 2018

Question Number : 195 Question 1d : 9126063060 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

“You have to like vourself before vou can like others™, 1s a view the
author:

(1) disagrees with
(2) denounces
(3) negates
(4) agrees with
Options:
1. % 1
o %D
3 %3
4 v 4

Question Id : 9126063061 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)
Cesticn Label | Comprehiension
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Read the following passage and answer questions 46-50:

The ongin and progress and future promotion of ¢rvalization are all ill
understood and nusconceived. These should be made the cluef theme of
education. but much hard work i1s necessary before we can reconstruct our ideas
of man and his capacities and free owrselves from mnmmerable persistent
misapprehensions. There have been obstructionists in all times, not merely the
lethargic masses. but the moralists. the rationalizing theologians, and most of the
philosophers, all busily if unconscionsly engaged i ratifving existing ignorance
and mistakes and discouraging creanve thought. Natwally, those who reassure
us seem worthy of honour and respect. Equally naturally those who puzzle us
with disturbing cnticisms and imvite us to change our ways are objects of
suspicion and readily discredited. Our personal discontent does not ordinanly
extend to any critical questioning of the general situation in which we find
ourselves. In every age prevailing conditions of civilization have appeared quite
natural and inevitable to those who grew up in them. Indeed. we are usually
quite unaware that a game 1s bemg played at all.

Sub questions

Question Number : 196 Question Id : 9126063062 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What hampers the future of civilization?

(1) over enthusiasm
(2) lack of enthusiasm
(3) misconceptions
(4) proper analysis

Options:

1. %1

2 %

3. v 3

4 % 4

Question Number : 197 Question Id : 9126063063 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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How were promoters of change treated?

(1) always respected
(2) often suspected
(3) looked upon as profit seekers
(4) looked upon as cynical people
Options:
1. %1
2 2
z ® 3
4 % 4

Question Number : 198 Question Id : 9126063064 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In all ages. there were people who blocked progress as there were

(1) dogmatic
(2) chansmatic
(3) analvtic
(4) uninierested
Options:
1.91
o %2
3 % 3
4 % 4

Question Number : 199 Question Id : 9126063065 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In all times. even philosophers emerged as enemies of

(1) induetrve philosophy
(2) deductive plulosophy
(3) creative thought

(4) calculated responses

Options:
1. %1
o %o
3 ¥ 3
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4 % 4

Question Number : 200 Question Id : 9126063066 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

People of every age seem to accept the prevailing conditions

(1) after weighung the pros and cons
(2) prima facie

(3) on the recommendation of others
(4) under threat from authorities

Options:
1. %1
e g
3 % 3
4 # 4
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